Review

: 2. Which is equivalent to 3[ log, A+1log, B—log, C |?
1. solve q [log, 4+log, B-log, C |
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3. Algebraically solve: log, (x+2)+— lg(S *y=167
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4. A truck is s purchased for $51 000 and depreciates by 23% annually. At the samx

€ same
time a minivan is purchased for $38 000 and d.eprecnt by 17/ aunua]ly W t
auq ation to model this situation and
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If the intensity of earthquake A is 5 and the intensity of earthquake B is 650,
what is the difference in their magnitudes as measured by the Richter Scale?
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The 1985 Mexico City earthquake had a magnitude of 8.1 on the Richter scale
and the 1976 Tangshan earthquake was 1.26 as intense. What was the magnitude

of the Tangshan earthquake on the Richter Scale?
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Sound

The loudness of a sound (measured in decibels) also uses a
logarithmic scale.
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of a sound
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Practice problems...
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